
CHEMISTRY

BOOKS - NAGEEN CHEMISTRY (ENGLISH)

SELF ASSESSMENT PAPER 2

Questions

1. Fill in the blanks by choosing the appropriate

word/words from those given in the brackets: 

(external, spontaneous, Reversible, internal, Carbon,

irreversible, pressure-volume, 40, 30, chain, 60, position, 70,

non-spontaneous) 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qliUTtN5Ksgd


______reactions never go to completion whereas

_____reactions proceed almost to completion.

Watch Video Solution

2. Fill in the blanks by choosing the appropriate

word/words from those given in the brackets: 

(external, spontaneous, Reversible, internal, Carbon,

irreversible, pressure-volume, 40, 30, chain, 60, position, 70,

non-spontaneous) 

The sum of _____energy and ______energy of a system is

called enthalpy of the system.

Watch Video Solution

https://dl.doubtnut.com/l/_qliUTtN5Ksgd
https://dl.doubtnut.com/l/_oTyqgy2ZA8E6


3. Fill in the blanks by choosing the appropriate

word/words from those given in the brackets: 

(external, spontaneous, Reversible, internal, Carbon,

irreversible, pressure-volume, 40, 30, chain, 60, position, 70,

non-spontaneous) 

Butan-1-ol and 2-methylpropan-1-ol differ in their _____

skeletons and show ______ isomerism.

Watch Video Solution

4. The knocking behaviour of a fuel with octane number 60

is the same as the mixture containing ...............% iso-octane

and ..............% n-heptane.

Watch Video Solution

https://dl.doubtnut.com/l/_kOB3duIBWM4n
https://dl.doubtnut.com/l/_nTPObOs8pTYp


5. Benzene vapour mixed with air when passed over 

catalyst at 775 K give

A. glyoxal

B. oxalic acid

C. maleic anhydride

D. fumaric acid

Answer:

Watch Video Solution

V2O5

6. The process of evaporation of a liquid is accompanied by:

increase in enthalpy 

https://dl.doubtnut.com/l/_xvJl18vT6HxP
https://dl.doubtnut.com/l/_kN8kK5XiEM15


decrease in entropy


no change in free energy 

increase in entropy.

A. increase in enthalpy

B. decrease in entropy

C. no change in free energy

D. increase in entropy

Answer:

Watch Video Solution

7. The densities of two gases are in the ratio of 1:16. The

ratio of their rates of diffusion is

https://dl.doubtnut.com/l/_kN8kK5XiEM15
https://dl.doubtnut.com/l/_Ra9XpEtI1tER


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

16: 1

4: 1

1: 4

1: 16

8. 18g of water contains

A. 1g atom of hydrogen

B. 2g atom of hydrogen

C. 3g atom of hydrogen

https://dl.doubtnut.com/l/_Ra9XpEtI1tER
https://dl.doubtnut.com/l/_vFtcBmeiLL2t


D. None of the above

Answer:

Watch Video Solution

9. Draw the geometrical isomers of but-2-ene.

Watch Video Solution

10. What is the relationship between the atomic mass and

actual mass of one atom of an element ?

Watch Video Solution

https://dl.doubtnut.com/l/_vFtcBmeiLL2t
https://dl.doubtnut.com/l/_Hs6B8UMRl1fy
https://dl.doubtnut.com/l/_Slthra8iaZuA


11. Name a compound whose empirical formula and

molecular formula are equal.

Watch Video Solution

12. Among all the isomers of pentane which has the lowest

boiling point ?

Watch Video Solution

13. What is the state of hybridisation of carbon atoms in

benzene?

Watch Video Solution

https://dl.doubtnut.com/l/_32keu1ObsXn7
https://dl.doubtnut.com/l/_yt4jAtcyTu9X
https://dl.doubtnut.com/l/_deEddXGHNB2c
https://dl.doubtnut.com/l/_8t08ngYKDbXR


14. Arrange  in the decreasing order

of Lewis acid character and explain.

Watch Video Solution

BF3, BCl3, BBr3, BI3

15. For what purpose are the black diamonds used ?

Watch Video Solution

16. An tomic obital has n=3 , what are the possible values of

 ? 


(ii) List the quantum numbers  of electrons for

3d orbital . 

(iii) which of the following orbitals are possible ?

l and ml

(ml and l)

https://dl.doubtnut.com/l/_8t08ngYKDbXR
https://dl.doubtnut.com/l/_HZlUJEg3KeD8
https://dl.doubtnut.com/l/_eQ0sooaRQ3j5


Watch Video Solution

17. State the expression for Heisenberg.s uncertainty

principle.

Watch Video Solution

18. 0.400 g of chloroplatinate salt of a monoacid base on

ignition gave 0.125 g of platinum. Find the molecular mass

of the base.

Watch Video Solution

19. 1.26 g of a dibasic acid were dissolved in water and the

solution made up to 200 mL. 20 mL of this solution were

https://dl.doubtnut.com/l/_eQ0sooaRQ3j5
https://dl.doubtnut.com/l/_MtlEpEfe1yzT
https://dl.doubtnut.com/l/_nwDAUXH6iPza
https://dl.doubtnut.com/l/_ep5B9B02ex22


completely neutralised by 10 mL of  NaOH solution.

Calculate the equivalent mass and molecular mass of the

acid.

Watch Video Solution

N

5

20. Why do boron halides act as Lewis acids ?

Watch Video Solution

21. Calculate the number of moles and number of molecules

in 4.4 g of  . Also find its volume at N.T.P

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_ep5B9B02ex22
https://dl.doubtnut.com/l/_Q1di2WYpDF6s
https://dl.doubtnut.com/l/_Co1VpKKputY2


22. Write the IUPAC names of the following compounds: 

Watch Video Solution

23. Write the IUPAC names of the following compounds: 

Watch Video Solution

24. The hydroxides and carbonates of sodium and

potassium are easily soluble in water while the

corresponding salts of magnesium and calcium are

sparingly soluble in water. Explain.

https://dl.doubtnut.com/l/_cqsJC0TrxxlK
https://dl.doubtnut.com/l/_o0iMpyMYoNZd
https://dl.doubtnut.com/l/_ucEOeVkv9Miu


Watch Video Solution

25. 

Watch Video Solution

CH3 − CH2 − CH = CH −

O

∣ ∣

C − H

26. For the following bond cleavages, use curved-arrows to

show that electron flow and classify each as homoloysis or

heterolysis. Identify reactive intermediate produced as free

radical, carbocation and carbanion 

Watch Video Solution

https://dl.doubtnut.com/l/_ucEOeVkv9Miu
https://dl.doubtnut.com/l/_9AzugLaKbO4v
https://dl.doubtnut.com/l/_1J7sIBgfzN1j


27. Draw the resonance structures for the following

compounds. Show the electron shift using curved-arrow

notation. 

Watch Video Solution

C6H5OH

28. Draw the resonance structures for the following

compounds. Show the electron shift using curved-arrow

notation. 

Watch Video Solution

C6H5 −
+

CH2

https://dl.doubtnut.com/l/_WE1AI3rEkXif
https://dl.doubtnut.com/l/_yAy23VBOXeyj


29. If the starting material for the manufacture of silicones

is , write the structure of the product formed.

Watch Video Solution

RSiCl3

30. Why is the bond energy of superoxide ion  less

than that of  molecule?

Watch Video Solution

(O−
2 )

O2

31. On the basis of molecular orbital theory predict which of

the following is paramagnetic. 

Watch Video Solution

He2 and He+
2

https://dl.doubtnut.com/l/_OND8DwMtW020
https://dl.doubtnut.com/l/_9JwfFfJs7LWh
https://dl.doubtnut.com/l/_zRU5qGjMZDs5


32. 0.9367 g of cadmium combine with chlorine to form

1.5276 g of - Find the equivalent mass of cadmium.

Watch Video Solution

CdCl2

33. What will be the pressure exerted by a mixture of 3.2 g

of methane and 4.4 g of carbon dioxide contained in a 9

 flask at  ?

Watch Video Solution

dm3 27∘C

34. What happens when magnesium is burnt in air ?

Watch Video Solution

https://dl.doubtnut.com/l/_zRU5qGjMZDs5
https://dl.doubtnut.com/l/_Ws33JaFibBgv
https://dl.doubtnut.com/l/_kUxnqjDeS1vM
https://dl.doubtnut.com/l/_tFbjXHRxSKg7


35. What happens when quick lime is heated with silica ?

Watch Video Solution

36. What happens when chlorine reacts with slaked lime?

Watch Video Solution

37. The difference between heats of reaction at constant

pressure and constant volume for the reaction, 

 

at  in kJ is

Watch Video Solution

2C6H6(l) + 15O2(g) → 12CO2(g) + 6H2O(l)

25∘C

https://dl.doubtnut.com/l/_tFbjXHRxSKg7
https://dl.doubtnut.com/l/_kOvZHVSvmGlp
https://dl.doubtnut.com/l/_wqdQowjHUF71
https://dl.doubtnut.com/l/_qD4LWTDUBHfS


38. State and explain Hess's law of constant heat

summation. Illustrate it with examples. Discuss its

important applications.

Watch Video Solution

39. Name a pollutant which is carcinogenic in nature

Watch Video Solution

40. What do you mean by green chemistry? How will it help

decrease environmental pollution?

Watch Video Solution

https://dl.doubtnut.com/l/_qD4LWTDUBHfS
https://dl.doubtnut.com/l/_jpmAHLCV5QXZ
https://dl.doubtnut.com/l/_TVEFbVlX73We
https://dl.doubtnut.com/l/_Uwt6Qv1tuWp3


41. What is the main difference between position isomerism

and functional isomerism? Explain with an example.

Watch Video Solution

42. Why is meso-tartaric acid regarded achiral in nature ?

Watch Video Solution

43. Explain the structures of  and  with in the

framework of octet rule.

Watch Video Solution

PCl5 SF6

https://dl.doubtnut.com/l/_gRkgQiuhOu5k
https://dl.doubtnut.com/l/_BL5GXx1MQDJE
https://dl.doubtnut.com/l/_J63xYv9TT7AS


44. Balance the following equations by oxidation number

method. 

Watch Video Solution

HNO3 → H2S → NO + S + H2O

45. Assign oxidation number to the underlined elements in

each of the following species : 

Watch Video Solution

NaHS––O4

46. Assign oxidation number to the underlined elements in

each of the following species : 

https://dl.doubtnut.com/l/_SLZ92362fQUt
https://dl.doubtnut.com/l/_xFfhWsRIumrF
https://dl.doubtnut.com/l/_K5n0DceGfbZv


Watch Video Solution

H4P–– 2O7

47. Assign oxidation number to the underlined elements in

each case 

Watch Video Solution

(N––2H5)2SO4

48. Calculate the oxidation number of the underlined

atoms in the following species. 

Watch Video Solution

N––H2OH, [Co–––(NH3)5Cl]Cl2, (N2–––
H5)2

SO4, Mg
––––3

N2

https://dl.doubtnut.com/l/_K5n0DceGfbZv
https://dl.doubtnut.com/l/_JrsmnedvecPg
https://dl.doubtnut.com/l/_P9GJZUqnXgs1


49. Balance the following equations by ion electron

method. 

Watch Video Solution

H2C2O4 + H2O2 → CO2 + H2O

50. Consider the elements : 

Cs ,Ne , I and F 

(a) Identify the element that exhibits only negative

oxidation state. 

(b) Identify the element that exhibits only postive oxidation

state. 

(c) Identify the element that exhibits both positive and

negative oxidation states. 

https://dl.doubtnut.com/l/_HOR6kfxhGwe8
https://dl.doubtnut.com/l/_epKzM0mDV7KR


(d) Identify the element which exhibits neither the negative

nor does the positive oxidation state.

Watch Video Solution

51. Consider the elements : 

Cs ,Ne , I and F 

(a) Identify the element that exhibits only negative

oxidation state. 

(b) Identify the element that exhibits only postive oxidation

state. 

(c) Identify the element that exhibits both positive and

negative oxidation states. 

(d) Identify the element which exhibits neither the negative

nor does the positive oxidation state.

W h Vid S l i

https://dl.doubtnut.com/l/_epKzM0mDV7KR
https://dl.doubtnut.com/l/_Je7c3xsdnCiv


Watch Video Solution

52. Consider the elements : 

Cs ,Ne , I and F 

(a) Identify the element that exhibits only negative

oxidation state. 

(b) Identify the element that exhibits only postive oxidation

state. 

(c) Identify the element that exhibits both positive and

negative oxidation states. 

(d) Identify the element which exhibits neither the negative

nor does the positive oxidation state.

Watch Video Solution

https://dl.doubtnut.com/l/_Je7c3xsdnCiv
https://dl.doubtnut.com/l/_Q74A8nPuYyn3


53. Consider the elements : 

Cs ,Ne , I and F 

(a) Identify the element that exhibits only negative

oxidation state. 

(b) Identify the element that exhibits only postive oxidation

state. 

(c) Identify the element that exhibits both positive and

negative oxidation states. 

(d) Identify the element which exhibits neither the negative

nor does the positive oxidation state.

Watch Video Solution

54. Deduce the structural formula of compounds (A) and (B)

on the basis of the following data: 

https://dl.doubtnut.com/l/_4YmmUFomGgg2
https://dl.doubtnut.com/l/_EaEPqGvzEkIF


Both (A) and (B) yield n-butane on reduction with Zn-Cu

couple

Watch Video Solution

55. Deduce the structural formula of compounds (A) and (B)

on the basis of the following data: 

When refluxed with sodium and ether, (A) gives n-octane,

whereas (B) yields 3, 4-dimethylhexane.

Watch Video Solution

56. Two isomeric compounds A and B have carbon 52.17%,

hydrogen 13.04% and the rest being oxygen. Their vapour

density is 23. Compound A on being treated with HI gives a

https://dl.doubtnut.com/l/_EaEPqGvzEkIF
https://dl.doubtnut.com/l/_ME7Eil45F7DD
https://dl.doubtnut.com/l/_ek2SuAW1ifTa


compound C, which when reacted with aqueous KOH gives

. Identify compounds A, B and C and explain the

reactions.

Watch Video Solution

C2H5OH

57. Calculate the hydronium ion and hydroxyl ion

concentrations in 

(1) 0.001 M HCI 

(ii) 0.01 M NaOH 

at 298 K assuming that both HCl and NaOH are completely

ionised

Watch Video Solution

https://dl.doubtnut.com/l/_ek2SuAW1ifTa
https://dl.doubtnut.com/l/_ZK86puHh4wdz


58. Calculate the hydronium ion and hydroxyl ion

concentrations in 

(1) 0.001 M HCI 

(ii) 0.01 M NaOH 

at 298 K assuming that both HCl and NaOH are completely

ionised

Watch Video Solution

59. What is  for the following equilibrium when the

equilibrium concentration of each substance is :

 and ? 


Watch Video Solution

Kc

[SO1] = 0.60M, [O2] = 0.82M [SO3] = 1.90M

2SO2(g) + O2(g) ⇔ 2SO3(g)

https://dl.doubtnut.com/l/_08hsV48ImFeG
https://dl.doubtnut.com/l/_cBMgsFlVpA9i


60. The solubility of sodium chloride in water is

 at 20°C. 80g of sodium chloride is dissolved

in  of water at 20°C. How much sodium chloride is

left undissolved ? After equilibrium is reached, an

additional 50 cm of water is added to the system at the

same temperature. Find the amount of NaCl present in the

solution and in the undissolved state.

Watch Video Solution

6.150molL− 1

100cm3

61. Write the equilibrium constant expressions for the

following reactions. 

Watch Video Solution

CH3COOH(aq) + H2O(l) ⇔ CH3COO
− (aq) + H3O

+ (aq)

https://dl.doubtnut.com/l/_bhvCGKWAX9Bb
https://dl.doubtnut.com/l/_HmtX18idj0QD


62. Write the equilibrium constant expressions for the

following reactions. 

Watch Video Solution

N2(g) + O2(g) ⇔ 2NO(g)

https://dl.doubtnut.com/l/_i3Sppokuw0FQ

